
K013/A (2/19)

P.

Nr.

1    184 00100

2    184 00200

3    184 00300

4    184 00600

5    184 00400

6    184 00500

7    184 02320

8    184 02311

9    184 00026

10   900 31042

11   900 01055   M10x25

12   900 01086   M8x80

13   900 01033   M6x25

14   900 01103   St 4,2x22

15   900 01062   M10x50

16   900 02005   M6

17   900 02112   M10

18   900 03006   Ø6,4

19   900 03001   Ø5,3

20   900 03014   Ø10,5

21   900 03661   Ø8,4

22   900 03055   Ø8

23   184 02341

24   184 02350

25   900 20295

26   900 01086   M8x80

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

17

18

19

20

20

21

22

23

24

POLOHA DRŽIAKA

SNÍMAČA OTÁČOK

25

 

21

22

26

PERO

6x6x40


